20214 % 2021. 4. 1k
KBTI 85— e
$ 1 EHIEHIY ST EEEE) 3
w | TR NABE | Bamr
B |m| = I | o |m|w B2 e p— HEED
P zeTi ERZ
1| XK
2 | &
3|+
4| B
5| A
B X 116:10 INA 16:40 (A= -1RER
6 | & 7 & / /|1, 2EPTAR BB
X
‘ < 11530 RZ 1640 |2 REZS WEX EEIITrYa
Tk ekkn | £ | £ | ¥ | F 16:00 arv— /  |ERRBEAR )
- 15:30 15:12 E?ﬁﬁ;@fé\xﬁiﬁw’%
VSN X : INR 12 [FUDES
8 | K| G | 16| 17| 18 | 19 / /
= X
5 x 1 15:30 AV 15:12 [3EEE T AMD
9 | & |\RTER/ |\RTO|NRTO|NRTO)|NRT® 18:00 575~ | 1785 |1, 226NRT
i = @) BERES
10|+
1|8
X 116:30 INZ 16:40 [BF RO
12|A| #= 112 3| 4 a5s—
X
x| 15:30 NZX (1512 [EESRBAE
13| k| &2 | 6 | 7| 8 | 10 o | 1130 s75—0| 17:55 |55 B 52 (~17:25) 14 x(17:30)
: BY—@Q
N x 1 15:30 INZ 16:12 [ZFUDELQ
14k G | @ | 12| 18] 14 / /
= X
X 1 15:30 INA 15:12
154 &z | 17 ] 18] 19| 20 18:00 855—| 1765
0
WK X 116:30 INZ 16:40 [ A FES ()
16| 95 |22] 23| 24| 25 o | 1780 55— | 17:55 |{RAEBD(~ 17:30)
: 295—@Q
17|+
8|8
X 116:30 AV 16:40 |£#E2D
19(A = | 2| 2| 3| 4 NINO® B
X
ELS x113:30 23— / |REKEQ
20|k| == | 9 | 10] 11 15:30 NZ | 15:12 |32NRTD
NRTD[NRT® @) 12%8 B — 17;55 ;ﬂg 2?2{}5%}%@
X : "853 — XEES
21 | k| 2aem | & | 12| 13 1530 RZ 1512 |RECED
{ - 13:30 / 3%’%(@%%)%
X - 8L — R R
2| k| #== | 16| 17| 21 B 1530 Az | 1812 |3ENRTG)
NRTGNRT@ o 1730 85— 17;55 1, rg%%%iﬁlﬂ%@
X : "2 — FREEKE
23 | & siE 22 23 T 14:30 443—| 16:12 |SNS#ES
NRT® O] 15:30 AVS
24 | £
25| B
x 116:30 INZ 16:40
%8| =2 | 1| 2| 3| 4 g
X
X 1 15:30 [ 15:30 /XX 15:12 IR ABRQ(~17:30)
27 k| == | 6| 7| 8] 9 18:00 | 18:00 i455—| 17:55
o
BT x [ 14:30 [ 14:30 i24>—| 15:12 [ERBIH B QD - ZEFMHKPTA
28 | k| ZE2E | 13 | 14 | 15 Té% / /  |PTA#A
i X KETFHUDH
29 | & B H
x 116:30 INZ 16:40 [1EERXAE(AZBR)
30|4| == | 22| 23| 24| 25 18:00 855—| 17:55
0




